




























    Detect the Signal and Measure the Magnetic Bearing 

    Enter Present Position as a 1st Waypoint ( ELT1 ) 

    Enter 2nd Waypoint Relative to the 1st ( ELT1 / brg / dist ) 

    Proceed to a suitable 2nd Cross Bearing Reception Point 

    Detect the Signal and Measure the Magnetic Bearing 

    Enter Present Position as a 3rd Waypoint ( ELT2 ) 

    Enter 4th Waypoint Relative to the 3rd ( ELT2 / brg / dist ) 

    Proceed to where the bearings cross 

    or – Plot additional cross bearings as required 

 


